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| For each of items (1)

SECTION A (10 Marks)

Answer all questions in this section.

(x) chonse the correct answer from among the grven

alternatives and write its letier beside the item number

(1)

JC

Which power plantliae got the least cost of operation?
y Gas turbine plant

3 Lhermal power plint

C Nuclear power plant

D Hydravlectric plant

I Nesel enging pewer planl
A consumer finds that afterrunning 10 kKVA equipment on full load for
hours, his energy consumption was 48 kW, What conclusion can
irawn?
A Phe lpad 1aetor of the consumer for the day was unity
13 e maximum demand of the consumer was 10 kW
(" Il \ o load 1s the same as _;n;;:_k woad
he equipment was drawing reactive power only
! Power factor ol the equipment was .8

Whi if the ¢ Wing wld be used for extinguishmg electrical fires
. Watet
! i le fire extimouishe
L Foum factor type e extingisher
3] Carbon tetrachlonde fire extinguisher
! L
Aluminium ts midndy favoured as bus-har matenal becaust
\ L3S easy 10 fabncats

B W low densaty
! 1} ':1""]'“ cost
1) ot non avi

bility of copper

! it has got high tensile strength

In & circunt breaker the current which oxists ot the stant of contiet
CPArRION 18 Known i
\ bregking curren!
H restnkinge current
5 SUFRC current
L) recovery current
: extnetion currenl
3

s .Vv"' -'&




(vi)  Why docs breakdown ~scur tn cibles?

A Constant loss ol uisulation due to ¢vaporation result mto breakaje

B Heating of cables when on load and cooling when not on load
results in formation of voids which ultimately result in breakdown

. Due 10 capacitive and mductive offects, some of the materials used

for insulation losses 11s propertics resulting mio oy L‘['-*"‘\:-“-‘“h”_‘-
) Due 1o heating of cables, insulation and conductor become One
imaterial and electrostatic charge appears on the surlace of the

cahle. cuusing sparking

whics icad to h]!:ll walet

F "y'.‘.l“;'“v"- uscd {or cahles are OrEanis
absorptio oltimately results inta hreakdawn
(viiy  When a flucrescent Tamp 15 10 be operted on de, which of the following
ditonn! device must b arparated i the ClrCutt
A Condense
| ransi (AAES)
. [/ |}
) Inductang
| \ternmlol

fepoar s a de 1sed o weusuringe very nigEn




SECTION B (30 Marks)

Answer all questions in this section
Destribe the following terms:
(i) Fuse
(11) Fuse element
() Minimum fusing current

Mention three (3) precautions one should take when wiring & hathroon

Name throe (3) ways in which fire risks can arise in tn electnical installation
A'su 1o s 10 Supply a2 3 KW heate : lecided to use single-core P\
tnsulated cables, The supply is 240 V' and the ambient lemperature 1s 0 (
eterming the

(i) Design current of the cina

(b) Ratings of the mimiatt

re cireuit breaker to proteet this cireuit
Niime three (3) advantages of high voltase distributio

L181 three (3) basic topls and their function needed hv i electnoan for genera

nstallation work

{a) Why s earthing necessary in elootrics equipment
() Méntion four (4) precaubions whch should be t9XCI BUHIMNST eleotnic

Why do we gel the bnght leght when lamps are con

4 d. s generaton dein ers a current of 120 A at- 300 V. If the armature and
Serics field resistance are 1.1 £ and 0.08 L1 resnechis ;]\, hnd the arnnature current

and generated e |

HIVE TWo (2) types of earth leakage circuit breaker. Which one is recommended

for inztaliation in & dry srea?

fute grint uk
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SECTION C (60 Marks)

Answer three (3) guestions |

Why is transformer rating in KVAZ

s

creney of . 1000 kKVA, L1

as ot hatf full<load ar .8 p.

]llk' o

15 98

pDOWEr factor

What is-a tanff?

awer coneurnier which has & con

yOIE B oftered the following tantl

wim plus | venty-five
mand is 250 KW and s an

rorm this section

1220V

5() Hz single pliase transtonmet

teading und U8 8% at full load ot unily

Determine iron loss and full load coppet 1oss

stant maximum demand t

Eive hundred Tanzams

SIVHINES

VAWV of maximun demand per ani
he nueal maximum g
s() ONO units (kWhy Ca culate the

! Annual oOst o)

MAL MU G ANC

roughoul the

chillings

pet

per amt

neal consumplion is

1 ) . cerdll i 1 el A |
L1 ) | rce peran
o he difference betwecn i Wwo nd rotor of 4 Three pRase jucti
Al MG o 11 cl e 1ind clLion AR
: W\ V othiee p ¢ mduction metor WOIKIng, full load on o WS
i cror has an fBoien i BY pereen This motor pohied 1t \
!
' eratot | 11 inge Ol i AotV d wor. 1 he respect
. ' { yct ! fternator arc nt ana YO p !
5 |
! t ol 1l (VA1 moten
! ) ( ¢ moton
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